The Study on Estlmatlon of Soil Carbon Sequestratlon Analyzmg Machlne Learnlng at Paddy Fields Applied by Rice Straw
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simulate machine learning
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The Algorythm for multivariate regression with tensorflow to

Simulation of training of multivariate regression
on changes of soll total carbon

iteration = 1 cost_function
[-0.5367747 ]] [0.672018]
iteration = 2 cost_function
[-0.53570116]] [0.6717673]
iteration = 3 cost_function = 0.3300046 [[ 0.3669814 ]
-0.53462976]] [0.67149884]

iteration = 4 cost function = 0.33127 [[ 0.36674824]
-0.5335605 ]] [0.6712657]

iteration = 5 cost _function = 0.32649946 [[ 0.36647874]
[-0.5324934 ]] [0.67099625]

iteration = 6 cost_function = 0.32474697 [[ 0.3662169]
[-0.5314284]] [0.6707344]
iteration = 7 cost_function =
-0.5303655 ]] [0.6704516]
iteration = 8 cost function =
-0.5293048 ]] [0.670195]
iteration = 9 cost_function = 0.31966132 [[ 0.3653745 ]
[-0.52824616]] [0.669892]

iteration = 10 cost_function = 0.3198021 [[ 0.36509976]
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0.3366913 [[ 0.36750054]

0.33374587 [[ 0.36724988]

0.32390755 [[ 0.36593407]

0.32100716 [[ 0.3656/7748]

iteration = 4003 cost function = 0.017965019 [[ 2.9953876e-01]
[-1.7791767e-04]] [0.6040546]

iteration = 4004 cost_function = 0.023332126 [[ 2.9952157e-01]
[-1.7756183e-04]] [0.60403734]

Done -- epoch limit reached.

learning_rate= 0.001

batch size= 100

num_otf epochs= 400

iterated= 4004

N = [[ 2.9952157e-01]
-1.7756183e-04]]

Cost |

The graph of simulation flow with tensor programmed
by multivariate regression training
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Changes of cost function according to training of parameter to time and input
(left) no calibration (right) with calibration

Multivariate Linear Regression st
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